Download from www.MsEducationTv.com




10.

11,

12,

13,

14,

15.

Preferential spending on facilities for

d's']d"'“"‘ﬂgf'd communities is an
example of

(A) Equality of Opportunity
(B) Affirmative action

(C) Equal rightg

(D) None of the above

Larva of Col

{A) Grub mDrcrU Is known as

(©) Mrub Lt

" (D) Puppa

d‘e: SMmallest five digit number which is
Wisible by 12, 13 and 21

(A) 10224 (8) 30256

(C) 10080 (D) 50321

;ompu(t:e the heat Benerated while transferring

Coulomb of charge in one hour through
Potential difference of 5q

(A) 3.8x 10%) (B) 4.8x 10°)
(C) 48x10¢) (D) 3.8x 10°)

The ratio of milk and water in 66 litres of

adulterated milk is & - 1. Water is added to it
to make the ratio 5 : 3, The quantity of water
added is

(A) 16.500 litres (B) 24.750 litres
(C) 22 litres (D) 20 litres

The code name of nuclear bomb dropped by
America on Nagasaki was

(A) Fat Man (B) Little Boy

(C) Little Baby (D) None of the above

16. Which number will come in the place of
qguestion mark ?
3,4,13,38,87,?

(A) 166

(
17.

(B) 164

C) 168 (D) 162

In Excel, referring to cells by their column and

row labels is called

(A) Mixed referencing
(B) Relative referencing
(C) Absolute referencing
(D) None of the above

18. Which numb&r will come in the place of
question mark ?
8 12 18
20 30 ?
w 40 IB} 45
C) 50 D) 35
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TP

aash he turned

J 19.
om erﬂ:(nrf""‘d ABaIn right
15 in mrl“’d fight and
He ::r: he f{ﬂm hi‘) ')tinﬂng
. (8) 35mM
L (0) None of these
I‘, om
| ulsifible concentrates (EC) js 20,
20 ) cample for EN (B} EndOSUphan
vy
(A ?""S:,':,m (D) Cypermethyrin
{L} car .. i :
+ number of men can finish a piece C;LWork in| 21,
21. 30IdaY5- \f there were 6 men mor?l:l e .w.ork af
could be finished in 10 days less: '€ Origina| o
. ©
number of men is it
(A) 6 8 1(23 6 17y
g ~ 1IPC Secti ] !
. ' ection is b
_ Which among the folIo’wmg .
o related to Offences Relating to Elections ? ;571?{
(A) 354 (8) 509 b
(C) 498 (D) 171
23, International Day of Non-Violence is observed 23.
every year on
(A) 1* October (B) 2™ October
(C) 12 October (D) None of the above
24.  The magnetic field inside a long, straight 24.

solenoid carrying current

(A) increases as we move towards its end
(B) is infinity

(C) decreases as we move towards its end
(D) None of the above 2

100x 10~
Wi+ 2X0 100
29
(D) 979

25,

wcom;“ 2"d opens 5 palette of
“an select a colour
"d shading to the

Point or to any

Y9

ks

25,

26.

% 5 2w § e LR
H8%1 15 m e s "
Ly m Herar 3 mzﬂnfqa,ﬁgiaﬁm.zs
(A) 60 m (B) 35
m

(C) 70m (D) %78 & i 3
WS iz (3 #.) % zrem 3

(A) FHemesn (8) Ve

(C) Frafrat (0) wrgRfys
T i % x 76 30 et f e o s

aFa §

6 T59 3 B, 9t 7= =14 10&?“’5@!“‘!1::
ST | et St g w2 OF740)
(A) 6 8 10 &%
(C) 15 (D) 12
Fefofen & 3 Fa-d i o0 ‘

' e ;15 Sl 9T g9 3
(A) 354 (8) 509
(] 498 (D) 171
st stoielia e e v
ST § ?

(A) 1 3FREER 1B) 2 o

(C) 12 37 (0) 3w 3 3

e aes o &, @ viaie § g
qIh &9 2
(A) -1 &9 37d ) i §, 3 wEard
(B) 3= ?
(C) SHI-S1& X 37d i AR 5 8, I w2 2
(D) Jr 8 H 1 780 e

};ng%

100 X10 - 100 + 2000+ 100="?

(A) 780 (B) 920
(C) 29 (D) 979
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9 30 T T ¥ W 3 S A 5
o iqdT fog an w3 kel i AR
BTiferd H g A |
(A) BTTHA TT
(B) e T
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27 statements are given

|usions. Choose the
fit(s) logically.

In this question, two
followed by two conc
conclusion(s) which best

Statements :

1. Allice-creams are irons.

2. Allirons are isotopes.
Conclusions :

. All ice-creams are isotopes.

Il. Some isotopes are ice-creams.
(A) Both Conclusions | and Il follow
(B) Only Conclusion | follows
(C) Neither Conclusion | nor Il follows

(D) Only Conclusion I follows

28, select the

From the gi i i
e given answer figures bidden/

one in which the question figure is
% embedded. (Rotation is not allowed)

s |

(A)

y.i4
v

(B)

yAY

g

*

EDI stands for

(A) Electronic Data on Internet

(B) Electronic Data Interchange
(C) Electronic Data Introduction
(D) Electronic Data Information

(€)

(D)

29,

30. Which of the following countries is not
the permanent member of United Nations
Security Council ?

(A) United Kingdom

(B) China

(C) India

(D) United States of America

Cancers which spread to other parts of the
body and proliferating are called as

(A) Inactive tumors

(B) Benign tumors

(C) Malignant tumors

(D) None of the above

31.

32.  Atrain, 240 m long crosses a man walking along
the line in opposite direction at the rate of
3 kmph in 10 seconds. The speed of the train is
(A) 86.4 kmph (B) 75 kmph
(C) 83.4 kmph (D) 63 kmph

274

28.

29,

30.

-s.

31.

32

m (C) 83.4 fopfy yfy o2
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33. InHaryana, G.D. Goenka University located at 33, wheanon o Sy, v Bealeren wl fiagg o ¢
(A) Karnal (B) Gurugram (A) wtATer (B) 1wt
(C) Jind (D) Hisar (C) sfta __ (0) fram

34.  With Rs. 1,000, one can buy 4 pairs of trousers 34, %, 1,000 i wr§ 4 ) erept an g od wlia e p |
or 8 shirts. What is the amount required to buy 3 wived) wereqr afve 3 wid W) dhvae wan ey 7
3 pairs of trousers and 3 shirts ? (B) %, 562.50
(A) Rs. 750 (B) Rs. 562,50 (A) . 750 s
(C) Rs. 375 (D) Rs.1,125 (C) . 375 (D) ¥ 1,125

35. Political Rights include 35, wrsrfifen e o wnfirer
(A) The right to contest in the election (A) AT et 1 sl
(B) Right to vote (B) @2 w1 wifvan
(C) Right to elect representatives (c) wfefafiral @)« st
(D) All the above (D) Fudyaa wof) _

36. If in a certain code, ‘CHANNEL is written as | 36. U#h ffgwa gz  afd ‘CHANNEL %1 ‘XSZMMV(y
‘XSZMMVO’, then how will ‘COMPUTER’ be foran smran B, @ 3w e o ‘COMPUTER' %] L
written in that code ? feran smum 7
(A) XLNKGFVI (B) XLNKFGVI (A) XLNKGFVI (B) XLNKFGVI
(C) XLKNFGVI (D) XLNFKGVI & (C) XLKNFGVI (D) XLNFKGVI

37. When phenol is heatedwith 37. oid fipaver & & v e fpay sy
benzene is obtained. 2, i atsf s g @ |
(A) Zinc dust (B) H,SO, (A) srEar gof (B) H,S0,

(C) Nickel- (D) Na,Cr,0, (C) Frebet (D) Na,Cr,0,
38. The book titled “The India Story” authored by | 38, “‘Z §f¥u1 &’ w7k et & eaa §
(A) Y. V. Reddy (B) BimalJalan (A) ard. &t & (B) famer strer
(C) Raghuram Rajan (D) None of the above (C) T TS (D) 3l 3 4 a0l
39. Who carved the Sphinx in Egypt ? 39. e firg o febarg ) quun o1 7
(A) Amorites (B) Assyrians (A) Qcﬁ’{zq (B) srefiy
(C) Papyrus (D) None of these (C) uim (0) i @ A
40. Everybody in a room shakes hands with | 40. uHFR H & fireman & | v
everybody else. The total number of hand e Hﬁﬁﬁ%ﬂii{g ; R ﬁi?:s
shakes is 66. The total number of persons in : IATE66 | ™
the room is pe e @
(A) 13 (8) 12 i (A) 13 (B) 12
(C)_14 (D) 11 ‘ (C) 14 (D) 11
41. Which of these is not a primary producer ? a1, Fr=forftea 3 & - va wrerfies sares A 8 7
((‘2} Phytoplankton ~(B) Ascars (A) Srefta g (8) wEHfE
e els (D) Grass (C) 3= (D) =
. e i : - -
toinery r’:"f‘ilce"?soft PowerPoint (2003) 42. fewiee gy, Hrgshraiae giawrge (2003) 9Efd
Ssaved uith: '8 watension. g fergaror 3 wre @ e el |
(A) .doc B) .txt
(€) IPEG (B) .txt (A) .doc (8) .
Ziier : (D) .ppy (C) JPEG (D) .PPT
. Co
T 11 f_"Plete.the following ana'Ogy 43. mwﬁmq e
Bt ' 11:1210::
5 (A 9:729 (8) 7 (A) 9:729 (B) 7:10;9
(C) 8: 448 o) ¢ 1029 (C) 8:448 (D) 6:21
Y9 . 1216
] } \‘ [l
Al od , -6- : 6
2y 'EQE“”‘J o
B Rbeing o W bow
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Typhoid is caused by

(A) Anabella ryphi.
(B) shiegella typhi |
(C) plasmodium falciparum

(D) Sm‘moneﬂa typhi
ine manufacturer is

(B) Russia
(D) India

44.

world’s largest vacc
(A) USA

(C) Brazil
In India census is carried out once in

(A) 01 year (B) 10 years
(C) 02 years (D) 5 years

Consider the following statements about
pradhan Mantri Vaya Vandana Yojana

(Scheme).
I. This is a scheme offered by the Life
Insurance Corporation (LIC) of India gives
a guaranteed payout of pension at a

specified rate for 10 years.
II. It also offers a death benefit in the form of

return of purchase price to the nominee.
(A) Both the statements | and Il are correct
(B) Only the statement | is correct
(C) Only the statement |l is correct
(D) None of the above

45.

46.

47.

A theoretical perspective based on the notion
that social events can best be explained in
terms of the contribution they make to the
continuity of a society is
(A) Functionalism

(C) Culturalism

48,

(B) Relativism
(D) Socialism

49. If you want to type in capitals, activate the

key by pressing it once.
(A) Caps lock (B) Ctrl
(C) Alt (D) Shift

50. Three different positions of the same dice are
shown. Select the number that will be on the

% face opposite to the one showing ‘4"

B @

(B) 2
(D) 1

(A) 3
(€) 6

45,

46.

47.

48-

49,

50.
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is ysed c“fing

sl . ‘~. =
g oo a) Gn.rd
— T \\.- :
N N D) Silver
- A..:---s‘\v\‘ ‘ | ,iv
52 Feowrad 1S the TS
- A) MoOQY . djan Econo
3) Centre for Monitoring In my
CAME
- State Bank of India s
53 < resonsible for investigating ang

g Cases of white-collar crimes;

frauds related to finance.
{A) OD
3) Serious Fraud Investigation Office

L~

\C"- (8l
(D) Police

S4. PowerPoint allows you to determine the size
of the slide by choosing
(A) Banner (8) On-screen show
{C) 35 mm slides (D) All of these

55. Consider the following statements about One
Nation One Ration Card.

l. The scheme is aimed at enabling migrant
workers and their family members to
buy subsidised ration from any fair price
shop anywhere in the country under the
National Food Security Act, 2013.

Il. The system identifies 3 beneficiary
through biometric authentication on

statement | js correct

the statement Iis correct
bove

ner I she loses she -
. opti ' will win.
1A) that is logically consistent.
K ; xm she lO;t did not win
(c Aotwi
o) She i nt g, e 44 ot ose

Mm: :s "e8adgury Badshah ?
B (C) tbraiy (8) ajj adil Shah Il
™ Adil Shah |, (D) None of these

- ’
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51,

52, ‘sﬁq'mmﬁm_

53.

(A) =3 &,
(B) iR Sy Wi wraten
(C) dt.sft. a1,
(D) gfera
54. UTEUER 37YH e N W wme:
AT & Fufor FE 2R | &
(A) SR (B) TH-BhH-
(C) 3smmi*TEg® (D) A @+

55. U U U t¥H 18 & i § Fferfas swiw
fam R |

| T8 AT T @ geen i, 2013
% Jatd <v1 ° el off fopelt 3fer gea 6
Eeacks| WA &lied | v
FHTFIRI 3R 37 TRER & Ge&di &l 959
T v
Il. T8 THEA T
g%ﬁma@ﬁg%%ﬂwﬁsmmﬁ@
e ol e A R | .

(A) T | 3T 11 A1 T & B

BEEGECIE RS b

(C) hae FI || T

(D) IqUd | ¥ FIS T

56, Freififan ae @ afey i e 0 3w
% ;AR gE e R, TR A T |

(D) = el &l
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58.

59.

60.

61.

62.

A painted cube which is
pieces of 729 smaller wit

of cuts. Now how many
no painted face ?

(A) 434 (B) 376
(C) 343 (D) 484

Wwhich one of the following place is known for
‘Chintzes’ cloth ?

(A) Burhanpur (B) Masulipatnam
(C) Calicut (D) Dhaka
Which of the following Committee has been

constituted to make suggestions on regulation
of Primary Urban Co-operative Banks (UCBs) ?

(A) Shashi Tharoor Committee

(8) Bimal Jalan Committee

(C) N.S. Vishwanathan Committee
(D) None of the above

h minimum NUmbpg

It refers to the marriage practice in which the
members of a group marry from within the
group members
(A) Exogamy
(C) Endogamy

(B) Hypergamy
(D) Homogamy

Read the data given below and based on it
answer the following question.

Six teachers namely, Abhijit, Binod, Chandan,
Dinesh, Emraan and Farhan have been
scheduled to take Mathematics classes on
Monday to Saturday for only one week.
Each teacher takes classes on different days.
Number of classes they are allowed to take

are2,3,4,5,6and 7 but not necessarily in the
same order.

Binod takes 5 classes but he is scheduled to
take class neither on Monday nor on Saturday.
Abhijit takes classes on Wednesday but not
classes, The teacher who takes 7 classes is
neitl uled to take class on Tuesday but he is
rChandan nor Dinesh. The teachers who
W@keGand 2 s are scheduled t: tak? iton
Saturda . ne who takes classes
?snmd dﬂllnT'?:a?m 6 classes. Chandan
F..-h,n.:"“ 10 take classes on the next day of

Classes, n prefers to teach on
TW‘V or Friday_Emr“ P

'L is the total ber of classes attended
% Dinesh ang Emprean
(A) Ten (8) Four
(D) Seven

() six

Cut Into an mnntu.al

smaller plecey have

i

5,

39,

60,

61,

62,

I —" (MIS Sa
Y 1y 01 LI B a0 e g ———
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Moy fopar o @ 7
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(C) v, v, foraene wfify

(D) Surer H A g
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2,3, 4,5, 63 7 & w1 germy o £ srafa
SAf wg stavass 4d ® fop gelt o i @)
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70. What is the movement of fre

Y9

&

2.

i

63,

64.

65.

66.

67.

68.

69.

Sponges are mostly
o (B) AsyMmetrical

(A) Bipolar :
(C) Polar (D) Symmetrical

With which of the following countries/
groupings, India launched @ bilateral

agreement “Partnership to Advance Clean
Energy (PACE)" ? ‘

(A) United States of America

(B) European Union

(C) Japan

(D) Australia

A clock uniformly gains two minutes per hour.
It is set correctly at 12 o’clock in the noon.
What is the actual time (approximately)

when the clock shows 6 o'clock in the
evening on the same day ?

(A) 5:20 p.m. (B) 5:48 p.m.

(C) 6:18 p.m. (D) 5:52 p.m.

The point ex-ante aggregate demand is equal
to ex-ante aggregate supply will be

(A) Excess supply
(C) Equilibrium

(B) Disequilibrium
(D) Excess demand

Inflation can also be seen as

(A) a reciprocal phenomenon

(B) a non-recurring phenomenon
(C) a no-reciprocal phenomenon

(D) a recurring phenomenon

Which are membrane bound vesicular
structures formed by the process of packaging
in the golgi apparatus ?
(A) Lysosomes

(C) Lysons

(B) Filosomes
(D) Lysokines

What should replace the question mark ?

A 7 M 11 8

20

i e organs/ e
organisms in response to chemicgs 7
(A) Phototaxis (B) Thermotaxis
(C) Chemotaxis (D) Nastic

(A) O (B) |
Qr (D) P

63.

64.

65.

66.

67.

68.

CMES - 54

wqtsr atftrehe 81 &

(A) fogel IB). s

(C) W (D) wwfHa o

i 3 Frefrfaa 3 & R du/ae ¥ W o
fRuafr qwehar ‘ardwfg g veEd el S
(Jw)"" i i fon ?

(A) TTF T SR B
(B) Fr & M
(c)

(D) HTeferam

LR &
o) e Y & e e A fire ) s <t
123 v o & 1 3 0

qeﬁsaawﬁ?haﬁw(anm)wﬁm?
(A) 5:20 p.m. (B) 5:48p.m.

(C) 6:18 p.m. (D) 5:52p.m.
Pretfere gwm Hin Fafoe o S o s R,
ferg grm .

(A) ifer gfd  (B) STHGEH

(€) Ege (D) 3feres Wi
LECSINRE] qiEer & &9 ¥ @ W
Tl 2 |

(A) SgehHt

(B) 3G

(C) gow ea

(D) 3

st | ¥ <t vl g Rl S a

wieft g8 Afreper dred - @ 7

(A) STEEEm (B) freiag

(C) arzE=y (D) wmsEfeg

S T8 3 T ot R fern s 7
HERTEYEEEN

IR KT . Ry e - L 4 | N

il e e 5% [t 8 ?
(A) O () I
T (D) P
70. @ i e 3 ga anii/Sai fr w2 7
(A) SRR (B) yufefRm
(C) wmrefRm (D) fR*



fis

71.

72.

74.

75.

76.

78,

If LIGHT can be coded as 1297820, then DARK

can be coded as
(A) 4111676
(C) 412376
If 5% January 2001 was a Friday,
25t December 2001 was a
(A) Wednesday (B) Thursday
(C) Tuesday (D) Monday
Read the given statements and identify the
type of soil related to all of them.

i. Itis also known as Regur soil.

ii. It is generally clayey, deep and

(8) 411811
(D) 412346

then

impermeable. .
iii. It retains moisture for long time.
(A) Alluvial soil (8) Black soil
(C) Mountain soil (D) Red soil

Inflation in the price index excluding food, fuel
and other volatile components is called as

(A) Tight inflation (B) No inflation
(C) Core inflation (D) None of these

It describes how “any action that is repeated
frequently becomes cast into a pattern, which
can then be performed again in the future
in the same manner and with the same
economical effort”
(A) Habitualization (B) Amalgamation
(C) Consolidation (D) Coalescing
What will be last digit of the 3" number from top
when the numbers given below are arranged in

descending order after reversing the position

of the digits within each number ? LIFAC)

517, 325, 639, 841, 792 N
(A)'s (8) 7 <
() 3 (D) 2

refers to the operating system
tha_t is self-contained in the device and
resident in the ROM.
t(g)) SIn?eddEd Operating System
o ultiprocessor Operating System
atch Processing Operating System
Multiuser Operating System

In which of the f k
ollowing fruits, the
albuminoys seeds are present ?
. Mango (B) Apple
Papaya (D) Pear
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er of B g
s A Is the A% Baare a1
il ;a:s f?satnr:e husband of B, ns A is
m
he brother of B, o
ltf ;x Q+ R, then which of the fol'OWing jg
true ?
(T&) p is the father of R
(8) Pis the uncle of R s
. R :
C) Pis the son of .
{{D} p is the brother of R NI
0. The use of the Internet or other electronic

means to harass an individual, a group of
individuals, or an organisation is termed

(B) Cyberspace
(D) None of these

(A) Pornography
(C) Cyberstalking

Consider the following statements about
Special Economic Zone (SEZ) of the country.

. They are industrial zones being set up by
the Central and State Governments in
different parts of the country to attract
foreign companies to invest in India.

Il. Companies who set up production units in

these zones are exempted from taxes for
an initial period of three years,

Choose the right option given below :

(A) Both the statements | and Il are correct
(B) The statement Il is correct

(C) Both the statements | and Il are
incorrect

(D) The statement | s correct

81.

82. The average weight of 12 crewmen in a boat is
increased by 1 ke
3 i’
fmm:hm :trgight Is 55 kg is replaced by
oy 's the weight of that new

(A) 59 kg

(C) 57 kg
83. An Is a

__H
Programs that togethe, controls 11,
e

operation of 3 ¢opy,

(A) Memory ynjy ek
(B) Application soft

(C) Operating svste:\m

(D) None of the aboye

Wwhen one of the

(B) 60 kg
(D) 58 kg
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The report on children under nutrition is given
by NFHS. NFHS means

(A) National Fixed Health Survey
(B) National Family Home Statistics
(C) National Family Healing Stage
(D) National Family Health Survey

“Logistic growth model is considered a more

realistic one” because

(A) population become limiting sooner or
later

(B) resources become unlimiting sooner or

later
(C) population become unlimiting sooner or

later
(D) resources become limiting sooner or

later
The Equation of GDP,, is

(A) C+1+G+X-M

(B) GDP,,,— Dep.

(C) GDP,,,=R+W+i+T

(D) GDP,,,—NIT

The United Nations Secretary General is

(A) Antony Glamark (B) Antony Carnad
(C) Antonio Guterres (D) None of the above

Which of the following is an important steel

city of the United States of America ?
(A) Ohio

(B) Lorain

(C) Colorado

(D) Pittsburgh

host program.
(A) Virus
(C) Malicious code

(B) Worm
(D) Torjan horse

90. Who among the following won Ostrava Open

WTA Doubles Title in 2021 ?
(A) Sania Mirza and Kaitlyn Christian
(B) Zhang Shuai and Kaitlyn Christian
(C) Erin Routliffe and Kaitlyn Christian
(D) Sania Mirza and Zhang Shuai

is a self-replicating program,
which is self-contained and does not require a
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eXpresses
i Iy arrived home, police arrested him,
When Rakesh @ home, he was

~relved
When Rakesh arrive

(A) arrested by police: B

(8) When Rakesh arrived home, «

arrested by pollcq. g

C) When Rakesh arnved_l_wm , he was
| being arrested by police.

(D) When Rakesh arrived home, he had
peen arrested by palice.

the blank with appropriate word from

L :ﬂLla?lternatives given below.
| found him standing the crowd.
(A) in (B) among
(C) besides (D) between

93. Write the word denoting sounds made by the
noun subjects, from the alternatives given

below.
Hoofs
(A) clatter (B) chatter
(C) crack (D) crackle

94. The following sentence contains grammatical
error or idiomatic error in it. You have to find
out that part of the sentence and choose the
alphabet of that part as the answer.

The angry at being left out of the bonanza
is palpable among employees of the
organisation.
(A) is palpable among
(B) left out of the bonanza
C) employees of the organisation.
The angry at being

d by 18 question, there is a statement
Sl e -a:% tchrg starters which are de“f"tﬁd

Tow s . Each starter is a group of the
first few words of 3 sentence, Eagh on proper
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W‘MQ the same meaning as
10 Join (N8 his begt
1o joi ; is be
1suca:e;‘s.me “‘“N‘lrft {0 pers,ade people
a. H v i Could not attain
b. How idr't‘%ltta ;
€. In spit Ng his b,
e {B) Only b
Yq iny a
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